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Aufgabe 4

a)

3
Edm =3cm
T T T T T T
1cm
b)
§dm =25 mm
1 =
—_— !
25 mm
) A
gkm =800 m
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200 m
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d)

125m

Aufgabe 5

a)

1d=12h
12:2=6

1
~d=6h
> 6

1 h = 60 min
60:3=20

%hEZOmin

1 km = 1000 m

1000 : 4 = 250
250-3 =750

3
ka£750m
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1h = 60 min
60:4=15

%Lh£15min
1 min =60s
60:6=10
%minéws

b)

1+= 1000 kg
1000 : 8 = 125

t=125kg

x|

1d=24h
24:3=8
8-2=16

2
gd—16h
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1m =100cm
100:4 =25

1
Zm£25cm

1kg=1000g
1000 : 8 = 125
125-3 =375

3
= kg =375
ke =375¢
11=1000 ml
1000 : 5 = 200

200 -4 = 800

1 =800 ml

U1l W~

)
1 dm?® = 100 cm?
100 : 4 = 25
25.3 =75

Z dm?* = 75 cm?
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1 m? = 100 dm?
100 : 100 = 1

1 2 ~ 2
ﬁm =1dm

1 m? = 100 dm?
100 : 2 = 50

%7112250dm2

1 km® = 1.000.000.000 12>
1.000.000.000 : 4 = 250.000.000

i km® = 250.000.000 m3

1 m? = 100 dm?
100 : 5 = 20

20-3 = 60

3

2 ~ 2
—m*-=60d
5 M m
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d)
1h = 60 min
60:2 =30
30-3 =90

3
= h=90mi
5 min

1m=10dm
10:5=2
2-8=16

§m§16dm

5

1kg = 1000
1000 : 2 = 500
500 - 5 = 2500

5
~kg=2500¢
2
1kg=1000g
1000 : 4 = 250

250 -11 = 2750

11
T ke=2750g
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11=1000 ml
1000 : 4 = 250
250 -5 = 1250

5
1 I =1250 ml



